ARMY PUBLIC SCHOOL SHILLONG
ANNUAL EXAMINATION 2022-23
CLASS X1
Computer Sclence (Code 083)

Time alloveed: 3. 00 His. Maximum Marks: 70

Lreneral instructions:

(i) Al the Questions are compuilsory.

(ii) Number written af the right margin indicates the Marks.

(1)  Programming Language {s “Python™

{iv) There are guestions where you have fo show the onipur of the program and show the
evalnation process 45 a par of answer.

(v] Grive appropriate synfax and examples wherever necessary.
(viy  Ensure thal there is no overwriling in the program.

1 (A} Which one of the followmg is the mobile memory effect? 1
(1) The mobile battery memorise the decreased hife cycle.
(1) The mobile battery memorise the increased life cycle,
(11} The mobile storage overflows.
(1v) The mobile storage underflows.

(B)  Capacitive screens tend to be more responsive than resistive scréens becanse 1

(1) Capacitive touch screen has two lavers of conductive material with a small gap
between them.
(n) Capacitive touch screen consists of a laver of glass coated with transparent
conductor.
(1) Capacitive touch screen has two layers of conductive matenal without any gap
between them.
(iv) Capacitive touch screen consists of a layer of plass coated with dense
conductor.
(€) Name assigned by the programumer to some parts of the program 15 called 1
(i) Literal
(1) Token
(ui) Identifier
() Comunent
(D Whach one of the following s not an mmutable data type? 1
(i) it
(n) tple
(m) strng
() dictionary
(E} X==ABC" 1
Y= mit(X) Wstatement 1
What will be the outcome of the statement *statement 1°
(1) Assigns the value of X 10 Y
(n) AssignstheidofXtoY
(m) Converts String datatype to mteger
() Ermmor
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(F)  Predict the output of the following statement.

X=complex(2)
print{X)
(p 2
() 2+0
(i) 2+
(iv) 2+]

G X, Y=5.3
Which of the followmng statement will give 2 as oufpunt?
() prmt(x'y)
(m) print{x/y)
(mi) print(x%y)
() print(x**y)

(H) a=Tre
b = False
¢ = False
print (not a or not b and c)
print (not a or bor not b and a)
Predict the output from the following option:

(i)  False
True
(n) False
False
(u)  True
Tre
(v} Tme
False

Iy Followmg statement was typed m IDLE shell:

i 223
What will be output?
() True
(up  False
(m) True, False
()  Ermor

N ===hst] =[2.4,6,8,10,12]

===t [6)
On execution of the above statements, which one of the followmg will be the output?
() True
(m)  SyutaxErmor
(m) IndexEmor
(v) MNameError
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=== list] =['Red’,'Green’, Blue','Cyan']
=== list1[1:3]
On execution of the above statements, which one of the followmg will be the output?
(1) ['Green', 'Blue']
(m) [Red, ‘Green’]
(ui) [Red', ‘Green', "Blue')
(W) ['Green', 'Blue', 'Cyan']

Which of the follbwmg term 1s used for the mtemet slang for a person who
mtentionally starts arguments or upsets others by postmg mflammatory remarks?

(1) Cyber bullying

(n)  Cyber tolling

(m) Cyber stalking

()  Plushing
A standalone malware computer program that replicates itself in order to spread to
other computers is called:

(1) Waorm
(i) Vius
{im)  Trojan
(iv) Spam

You have received unwanted message m vour email inbox sent through computer
generated program. Which one of the following is the appropriate term used for such

type of commmnication?

(1) Adware

()  Digital footprmts
(m)  Spam

(v) Vins

Which one of the following 15 not true for encryption?

(1) A way of scrambhng data so that only anthorized parties can understand the
mformation

(n) A method by which information is converted into secret code that hides the
miormation’s irue meamng

() It translates data mto another form, or code, so that only people with access
1o a secrel Key can understand the data.

(w) A protection against theft of personal mformation over Cyber Space without
consent.

Which one of rthe following 15 true for Dictionary?
(1) The mems are accessed via the kevs.
(1)  The items are accessed via index.
{m) The items are accessed via index as well as kevs.

()  Each value maps to an mdex.

The existing dictionary can be modified by:
(1) Owverwriting the value for a particular key.
(m)  Owerwnting the key for a particular value.
(m) Owverwriing the key,value for a particular value key.
(iv)  Dictionary cannot be edited.
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Which of the followmg 15 not a Python legal stnng operation?
(1) 'abe+'abe’

(ii) 'abe™ 3
(1) I*abe’
(v} 'abe’ + 3

Prove the identities algebraically m the given boolean equation AB+BC+AC=AB+AC

Explaimn the working of ALU.

Name any four mobile phone components.

(1) Convert (4AAD) 6 to its equivalent binary number.

(1) Subtract 1111 from 10000 using 2s compliment method.
Define Token with an example.

Write the differences between Copyrights and Patents.

Predict the output of the followmg statement.
X=10

X=X+10

X=X-5§

print (X)

XY=X-222

print (X, Y)

Write the comesponding Python expression of the following mathematical expression.

(@) vx + =X
(b) ¥x
Find syntax error m the following Python code:

nunEmt{mput( "Entér an mteger: "))
if e
TINETF==1100TEN
if nume==0 AND nuny==9
print("Single digit number")
elif : num>=10 OR mun<=99
print{"Two digit number™)
elif : mum==099
print(*Three digit mmber”)
else : prmt("Number contains more than 3 digats™)

Define Hacking. Differentiate between ethical and non ethical hackers.

Explam the need for Social media etiqueties.
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(L} Mhstrate with example the difference between break and contmue statement.

(M} How many fimes the for loop will be evaluated m the followmg python code? Also
mention the final value of 1
for 1 m range(0, 10):
pass

M} You are planming to go for a vacation. You surfed the Internet to get answers for the
following queries:
a) Weather conditions
b) Availability of amr tickets and fares
¢) Places to visit
d) Best hotel deals
Which of the above mentioned action{s) mught have created a digital footprmt? Give
Teasoms ).

(0} Rewrite the following code fragment using for loop:
1= 100
wihule (1> 0) :
print (i)
=3

(P} How will you create a single element Tuple? What will the outcome of the statement
X=03P
(A} Write a Python code to produce the following pattern using nested for loop.
A
B A
CBA
DCBA

(B)  Wiite programs to find the sum of the following series:
X+X2+03+ + x%n (Input X and n botl)

(C) What does each of the followmng expressions evaluate to? Suppose that L is the List
["These"®, ["are”, "a", "few", "words"], "that™, "we", "will”, "use”].
M L{o:2]
(u) L[] +L[1]
im1) L[2:2]

M Given two lists:
L1 =["thss", 1", 'a", "List"], L2 = ["this", ["15", "another™], "List"]
Whach of the followmg expressions will canse an error and why?
(1) Ll1=L2
() Llupper()
(1) L1[3].upper( )
(v)  L2upper()
(v) L2[1].upper( )
(viy  L2[1][1]) upper( )

]
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4 (A)  Suppose that D s the dictionary 4
D= {"what" : 23 "are" : 11, "you": 14, "domg" : 5, "next” : 9, "Sahurday?" : 4}.
Write down what the value of D is after each of the following Python statements.
Evaluate each statement starting with the same value of the dictionary D), mentioned
above and write what will be the change dictionary D?

(a) D ["what"] = D ["are"]
(b) D.update ({"Sunday™:25, "what™:5})

(c) del D["you"]
{d) D ["which®] = 19

(B)  Given a strmg, the task is to find the frequencies of all the characters in that string and 4
return a dictionary with key as the character and its value as its frequency m the given
string. Complete the followimng code and predict the output,

test_str = "ARMY PUBLIC SCHOOL SHILLONG"
all_freq = {}
for 1 m test_sir:
if 11 (1) :
all freq[i] = (i)
else:
all freq(1] = (i)
# pnnting result
print{"Count of all characters s 'n "+ str{all_freq))




